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NEW QUESTION 1

Given:

public static vold main(Stringl[] args) |
String ta = "A ";
ta = ta.concat ("B ") ;
Stirrng £h = HC M

ta = ta.concat (th)

ta.replace (TCT, TDT);

ta = ta.concat (th)

System.out.println (ta) ;
1

What is the result?

A.ABCD
B.ACD
C.ACDD
D.ABD
E.ABDC

Answer: C

NEW QUESTION 2
Given the code fragments:

class Student |
String name;

int age;

4. public class Test

5. public static void main{Stringl[] args) {
B Student sl = new Student()

K Student 52 = new Student(} .

8. Student =23 = new Student():
* sl = s83;

10. 83 = =82;

11, 52 = nuall;

12, 1}

13.}

Which statement is true?

A. After line 11, three objects are eligible for garbage collection.

B. After line 11, two objects are eligible for garbage collection.

C. After line 11, one object is eligible for garbage collection.

D. After line 11, none of the objects are eligible for garbage collection.
Answer: C

NEW QUESTION 3
Given the following classes:
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public class Emplovee {
public int salary;

public class Manager extends Emplovee ({
public int budget:;

public class Director extends Manager |
public int stockOptions;
}

And given the following main method:

public static void main(8tringl[] args) |
Employee employee = new Emplovee():

Manager manager = new Manager():;
Director director = new Director():;
//line nl

}
Which two options fail to compile when placed at line n1 of the main method? (Choose two.)

A. employee.salary = 50_000;

B. director.salary = 80_000;

C. employee.budget = 200_000;
D. manager.budget =1 000_000;
E. manager.stockOption = 500;

F. director.stockOptions = 1_000;

Answer: CE

NEW QUESTION 4
Given the code fragment:

public static woid main (String[] arga) |

String[] arr = (“Hi", “How"™, “are”, “You®);

List<String> arrlist = new ArrayList<> (Arrays.aslist (arr);

if (arrList.removeIf((String =) -> (return s.length() <= 2;})) {
System.out.printlni=z + “removed™)’

}

What is the result?

A. Compilation fails.

B. Hi removed

C. An UnsupportedOperationException is thrown at runtime.
D. The program compiles, but it prints nothing.

Answer: A

NEW QUESTION 5
Given:
public class Test |
public static vold main(String[] args) |
int = = 1;
int y = 0;
if (x++ = ++vy) |
System.out.print (“Hello “);
} elze |

System.out.print (“Welcoms ™) ;

}
System.ocut.print {(“Leg ™ + x + Y:7 + y);

}

What is the result?

A. Hello Log 1:0
B. Hello Log 2:1
C. Welcome Log 2:1
D. Welcome Log 1:0
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Answer: C

NEW QUESTION 6
Given the code fragment:

int = = 100;

int a = z=++;
int b = ++=;
int <o = z:++;

int d = (a < k) 2 (a < c) ? a: (b <c 1? b: c: =
Svstem.out.printlnid) ;

What is the result?

A. 100
B. 101
C.102
D. 103
E. Compilation fails

Answer: E

NEW QUESTION 7
Given this code for a Planet object:
public class Planet {
public String name;
public int moons;

public Planet (String name, int moons) {
this.name = name;
this.moons = moons:

And this method:

public static woid main (String[] args) {
Planet[] planets = {
new Planet ("Mercury”, 0),
new Planet ("Venus", 0),
new Planet ("Earth"”, 1),
new Planet ("Mars"”, 2)

System.out.println(planets);

System.out.println(planets[2].nane) ;

System.out.println(planets(2].moons) ;
}

What is the output?
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A
planets
Earth
1

B
[LPlanet=s.Planet; @3154kL9742
Earth
1

C
[LPlanets=.Planst; @15dkL2742
Planets=s. Planet@dadiadadc
1

1]
[LFlanst=. FPlanst; 31542742
Planets. Planet@adiadafc
[LPlansets . Moon; @7/852=922

E
[LEPlanet=s. Planet; @15dkL9742
Wenus
]

A. Option A

B. Option B

C. Option C

D. Option D

E. Option E

Answer: C

NEW QUESTION 8
Which two class definitions fail to compile? (Choose two.)
B

abstract class A3 {
private static int 1i;
public woid dostuff () {}
public A3 (}{}

final class Al {
public Al() {}

private class A2 {
private static int 1i:
private A2(){}

class A4 |
protected stat
private R4 () {
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E
final abstract class A5 {
protected static int i;
void destuff () {}
abstract void dolIt();
}
A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
Answer: CD

NEW QUESTION 9
Given the code fragment:
public class Emploves |
String name;
boolean contract;
double =salary;
Enployes () |
£ line mil
'
PObl e St b Bast Aty
return names + ": "

}

public static wvoid maini(Stringl]
Employes & = new Emploves () ;

/7 line nZ
System.out.print i) ;

}

Which two modifications, when made independently, enable the code to print Joe:true: 100.0? (Choose two.)

O &) Replace 1line nZ with:
2. name = "Joe™;
e.contract = true;
e.zalary = 100;

O B) Replace 1ine nZ with;
thi=.name = "Joe";
this.contract = true;
this.galary = 100;

O C) Replace 1ine nl with:

this.name = new String("Joe");

+ contract

+ ”: rr

args)

thiz.contract = new Eoolean(true) ;

thiz.zalary = new Double (100} ;

O D) Replace 1ine nl with:
name = "Joe";
contract = TRUE;
galary = 100.0f;

O E) Replace 1ine nl with;
thi=z ("Joe", trues, 1007 ;

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: AC

NEW QUESTION 10
Given the code fragment:
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LocalDateTime dt = LocalDateTime.of (2014, 7
dt.plusDays (30} ;
dt.plusMonths (1) ;

System.out.println(dt.format (DateTimeFormatter.IS0O DATE TIME});

What is the result?

A. An exception is thrown at runtim
B. 2014-07-31T01:01:00

C. 2014-07-31

D. 2014-09-30T00:00:00

Answer: B

NEW QUESTION 10
Given:

class B
public wvoid test() {
System.out.println("a ");

class B extends &
public void test () {
System.out.println{"B "}

public class C extends A {
public void test () {
System.out.println{("Cc "):

}

public static wvoid main({String[] args)
A bl = new Af):
A b2 = new C{):
A b3 = (B) b2Z; //line nl
Ll = (A) bZ; //line n2

bl.test{}:
b3.testf);

}
What is the result?

A. AB
B. AC
C.CC
D. A ClassCastException is thrown only at line n1.
E. A ClassCastException is thrown only at line n2.

Answer: D

NEW QUESTION 12
Given the code fragment:
public static void main(String[] args) |
Locallate date = Locallate.of (2012, 01, 22);
dates.plusDays (10) ;
System.out.printlndate) ;
i

What is the result?

A. 2012-02-10

B. 2012-02-11

C. Compilation fails

D. A DateTimeException is thrown at runtime.
Answer: D

NEW QUESTION 15
Given:
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class Caller
private wvoid init ()
System.out.println(“Initialized”);

private void start ()

init():
System.ocut.println (“Started”) ;
}
}
public class TestCall {
public static void main(String[] args) {
Caller c = new Caller{):
c.start(); // line nl
c.init(); // line n2
}
}

What is the result?

A. Compilation fails at line nl.
B. InitializedStartedInitialized
C. InitializedStarted

D. Compilation fails at line n2.

Answer: D

NEW QUESTION 20

Given the code fragment:

public static void main(String[] args)
LocalDate date = LocalDate.of (2012, 1, 30);
date.plusDays (10) ;
System.out.println(date) ;

What is the result?

A. 2012-02-10

B. 2012-01-30

C. 2012-02-10 00:00

D. A DateTimeException is thrown at runtime.

Answer: C

NEW QUESTION 23
Which two code fragments cause a compilation error? (Choose two.)

A. float flt = 100.00F;

B. float flt = (float) 1_11.00;

C. Float flt = 100.00;

D. double y1 = 203.22;float flt = y1;
E. int y2 = 100;float flt = (float) y2 ;

Answer: AD

NEW QUESTION 24
Which three are advantages of the Java exception mechanism? (Choose three.)

A. Improves the program structure because the error handling code is separated from the normal program function
B. Provides a set of standard exceptions that covers all possible errors

C. Improves the program structure because the programmer can choose where to handle exceptions

D. Improves the program structure because exceptions must be handled in the method in which they occurred

E. Allows the creation of new exceptions that are customized to the particular program being created

Answer: ACE

NEW QUESTION 25
Given this class:
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public class Rectangle {
private doubls length;
private double height;

private doubkle aresa;

public woid setlength (double length) {
this.length = length;

}

public woid setHeight (double height) {
this.height = height;

}

public wvoid sethrea() {

area = length*height;

'
Which two changes would encapsulate this class and ensure that the area field is always equal to length * height whenever the Rectangle class is used?

A. Call the setArea method at the end of the setHeight method.

B. Call the setArea method at the beginning of the setHeight method.
C. Call the setArea method at the end of the setLength method.

D. Call the setArea method at the beginning of the setLength method.
E. Change the setArea method to private.

F. Change the area field to public.

Answer: AE

NEW QUESTION 26
Given:

class Caller |
private wvoid init ()
System.out.println(™Initialized”);

private void start ()
init () ;
System.out.println (“Started”) ;

}

public class TestCall {
public static void main(Stringl] args) {
Caller o — new Caller{):
c.start () ;
c.init () ;

What is the result?

A. An exception is thrown at runtime.
B. InitializedStartedInitialized

C. InitializedStarted

D. Compilation fails.

Answer: D

NEW QUESTION 28
Which three statements describe the object-oriented features of the Java language? (Choose three.)

A. Objects cannot be reused.

B. A subclass must override the methods from a superclass.
C. Objects can share behaviors with other objects.

D. A package must contain a main class.

E. Object is the root class of all other objects.

F. A main method must be declared in every class.

Answer: BCF

NEW QUESTION 29
Given:
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claszs Wehicle |
int
ehicle ()4
thig (100 ; // line nl
i
Wehicle (int =)
thi=s.x = =

}

cla=s=s Car extends vVehicle |
int ¥v;
Car ()
superil;
thisg (207 ; 4 line nZ
i
Car (int vl |
thiz.v = v;
i
public 3tring to Stringl) |
return super.x + ":" + this.vy;
i
h

And given the code fragment;
And given the code fragment:

Wehicle v = new Car () ;
Syvstem.out.println(v);

What is the result?

A.10:20

B. 0:20

C. Compilation fails at line n1

D. Compilation fails at line n2

Answer: D

NEW QUESTION 34
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